
Letting No. 35-09.9.10
SNOW PLOW AND SPREADER PARTS

ITEM NO. ITEM DESCRIPTION TRIUS CHOICE CHEMUNG S.C. BRAKE
SWENSON CHAIN ASSEMBLIES

1 10' UNIT NB NB NB $1,960.00
2 11' UNIT NB NB NB $2,060.00

GOODROADS SNOW PLOWS
3 MODEL 712 SHOE NB NB $56.70 $76.70
4 MODEL 721 SHOE NB NB $56.70 $76.70
5 MODEL 112 & 120 SHOE NB NB $50.62 $50.70
6 MODEL 712 NOSE ASSEMBLY RH NB NB $40.50 $39.00
7 MODEL 721 NOSE ASSEMBLY LH NB NB $36.45 $39.00
8 MODEL 721 NOSE ASSEMBLY NB NB $59.41 $39.00
9 MODEL 712 CURB BUMPER LH NB NB $40.83 $39.00
10 MODEL 712 CURB BUMPER RH NB NB $40.83 $39.00
11 MODEL 712 CURB GUARD NB NB $30.51 $39.00
12 MODEL 712 5/8" THICK, 6" HIGH, 10' 3" NB NB $90.17 $140.00
13 MODEL 721 5/8" THICK, 6" HIGH, 131" NB NB $96.77 $145.00

FRINK SNOW PLOWS
14 FRAME SHOE MODEL 640SK 440SK, 650SK,N391 OR 1A 3232-3-1 NB NB $70.20 $85.00
15 FRAME SHOE MODEL 640SCK, 005-6.7 $121.56 NB $70.20 NB
16 MOLDBOARD SHOE MODEL 640SK, 650SK, 440SK, MWA-2 004-1-17 $92.35 NB $48.21 NB
17 NOSE SHOE 640SK, 650SK, 640SCK, F-04081-1 NB NB $34.15 $37.70
18 MOLDBOARD SHOE MODEL MWA-2 004-1-17 $92.35 NB $48.21 NB
19 NOSE SHOE MODEL 440SK 3442-32-C NB NB $34.15 $57.20
20 WING SHOE MODEL 11BRA38, 11BLA38 666-0004-7-19 NB NB $68.85 $70.20
21 CURB SHOE MODEL N3911 N3910 0051-1-2 $47.38 NB $54.21 NB
22 MOLDBOARD SHOE N3911 N3910 0004-1-14 $97.19 NB $48.21 NB
23 NOSE SHOE MWA02 4101-22-B NB NB $34.15 NB
24 CURB SHOE MODEL MWA-2 1151-3-1 NB NB $54.21 NB
25 CUTTING EDGE 3/4" THICK, 6" HIGH, 42" LENGTH MODEL N3910 NB NB $40.16 $59.80
26 CUTTING EDGE 3/4" THICK, 6" HIGH, 36" LENGTH MODEL N3910 NB NB $34.43 $45.50



Letting No. 35-09.9.10
SNOW PLOW AND SPREADER PARTS

ITEM NO. ITEM DESCRIPTION TRIUS CHOICE CHEMUNG S.C. BRAKE

UNIVERSAL PARTS & HARDWARE
27 CURB DUMPER HEAVY DUTY 6' NB NB $40.83 $44.20
28 CURB DUMPER HEAVY DUTY 8' NB NB $48.83 $51.35
29 5/8-11 GRADE 8 NUTS NYLON LOCKNUTS PLATED NB $0.4612 $0.64 NB
 BOMBARDIER MODEL SW48FA

30  RUBBER CUTTING EDGE NB NB NB NB
GALLION GRADER BLADES FOR MODEL A606

31 CUTTING EDGE 7' NB NB NB $104.00
32 PLOW BOLT-DOME HEAD 4548A NB NB NB $2.00
33 LOCK WASHER 85062 NB NB NB $0.40
34 NUT HEX 84924 NB NB NB $0.50
35 PLOW BOLT-DOME HEAD 45484A NB NB NB $2.00
36 LOCK WASHER 85062 NB NB NB $0.40
37 HEX NUT 84924 NB NB NB $0.50

BALDERSON BUCKET BLADES FOR CATERPILLAR PAYLOADER MODEL 930
38 BOLTS  NB $3.28 NB $1.80
39 NUTS NB $0.74 NB $4.00

BALDERSON BUCKET BLADES FOR MODEL B26-20 (926) CAT LOADER
40 END BIT NB NB NB $74.00
41 BOLT NB $3.28 NB $1.80
42 NUT NB $0.74 NB $4.00
 DRESSER LOADER MODEL 525

43 BLADE NB NB NB $843.70
44 CENTER BLADE NB NB NB $813.05
45 END BITS NB NB NB $152.90
46 BOLT NB NB NB $4.00
47 NUT NB NB NB $1.80
48 WASHER NB NB NB NB

CASE LOADER MODEL 921 BLADES AND BOLTS



Letting No. 35-09.9.10
SNOW PLOW AND SPREADER PARTS

ITEM NO. ITEM DESCRIPTION TRIUS CHOICE CHEMUNG S.C. BRAKE

49 BOLT NB NB NB NB
AEROQUIP HYDRAULIC COUPLINGS

50 COUPLING 5601-8-10S NB $0.1868 NB NB
 AEROQUIP CAPS AND PLUGS

51 CAPS AND PLUGS 5657-4 NB $1.72 NB NB
52 CAPS AND PLUGS 5657-6 NB $2.07 NB NB
53 CAPS AND PLUGS 5657-10 NB $2.35 NB NB
54 CAPS AND PLUGS 5657-16 NB $4.40 NB NB
55 CAPS AND PLUGS 5659-4 NB $1.72 NB NB
56 CAPS AND PLUGS 5659-6 NB $1.85 NB NB
57 CAPS AND PLUGS 5659-10 NB $2.52 NB NB

SNO-KING
58  1/2" THICK 6" HIGH 10' LENGTH NON REVERSIBLE NB NB $114.75 $106.00

FLO-N-DUMP
59 10' CHAIN $914.55 NB NB NB
60 14' CHAIN $1,279.95 NB NB NB

KOMATSU JRB BACKHOE BLADE GENERAL PURPOSE BUCKET BLADE
61 2 EDGE PIECE 1-1/4" BOLTS NB NB NB NB
62 1-MAIN 1-1/4" X 13" X 61" 4 BOLT HOLES NB NB NB NB
63 BACK BLADE 2-EDGE PIECES 3/4" X 13" 12-3/4" NB NB NB NB
64 1-MAIN 3/4" X 6" X 82-3/4" NB NB NB NB

TORO MD PLOW BLADES
65 3/8" X 4" X 60" NB NB NB NB
66 MONROE SPREADERS NB NB NB NB

PUBLIC DISCLOSURE X X X X
LOCAL YES YES NO YES
LIVING WAGE N/A N/A N/A N/A
UNION X
LAWFUL HIRING X X X X



Letting No. 35-09.9.10
SNOW PLOW AND SPREADER PARTS

ITEM NO. ITEM DESCRIPTION TRIUS CHOICE CHEMUNG S.C. BRAKE

LESS % NONE NONE NONE NONE



Letting No. 35-09.9.10
SNOW PLOW AND SPREADER PARTS

ITEM NO. ITEM DESCRIPTION
SWENSON CHAIN ASSEMBLIES

1 10' UNIT 
2 11' UNIT

GOODROADS SNOW PLOWS
3 MODEL 712 SHOE
4 MODEL 721 SHOE
5 MODEL 112 & 120 SHOE
6 MODEL 712 NOSE ASSEMBLY RH
7 MODEL 721 NOSE ASSEMBLY LH 
8 MODEL 721 NOSE ASSEMBLY
9 MODEL 712 CURB BUMPER LH
10 MODEL 712 CURB BUMPER RH
11 MODEL 712 CURB GUARD
12 MODEL 712 5/8" THICK, 6" HIGH, 10' 3"
13 MODEL 721 5/8" THICK, 6" HIGH, 131"

FRINK SNOW PLOWS
14 FRAME SHOE MODEL 640SK 440SK, 650SK,N391 OR 1A 3232-3-1
15 FRAME SHOE MODEL 640SCK, 005-6.7
16 MOLDBOARD SHOE MODEL 640SK, 650SK, 440SK, MWA-2 004-1-17
17 NOSE SHOE 640SK, 650SK, 640SCK, F-04081-1
18 MOLDBOARD SHOE MODEL MWA-2 004-1-17
19 NOSE SHOE MODEL 440SK 3442-32-C
20 WING SHOE MODEL 11BRA38, 11BLA38 666-0004-7-19
21 CURB SHOE MODEL N3911 N3910 0051-1-2
22 MOLDBOARD SHOE N3911 N3910 0004-1-14
23 NOSE SHOE MWA02 4101-22-B
24 CURB SHOE MODEL MWA-2 1151-3-1
25 CUTTING EDGE 3/4" THICK, 6" HIGH, 42" LENGTH MODEL N3910
26 CUTTING EDGE 3/4" THICK, 6" HIGH, 36" LENGTH MODEL N3910



Letting No. 35-09.9.10
SNOW PLOW AND SPREADER PARTS

ITEM NO. ITEM DESCRIPTION

UNIVERSAL PARTS & HARDWARE
27 CURB DUMPER HEAVY DUTY 6'
28 CURB DUMPER HEAVY DUTY 8'
29 5/8-11 GRADE 8 NUTS NYLON LOCKNUTS PLATED
 BOMBARDIER MODEL SW48FA

30  RUBBER CUTTING EDGE
GALLION GRADER BLADES FOR MODEL A606

31 CUTTING EDGE 7'
32 PLOW BOLT-DOME HEAD 4548A
33 LOCK WASHER 85062
34 NUT HEX 84924
35 PLOW BOLT-DOME HEAD 45484A
36 LOCK WASHER 85062
37 HEX NUT 84924

BALDERSON BUCKET BLADES FOR CATERPILLAR PAYLOADER MODEL 930
38 BOLTS  
39 NUTS

BALDERSON BUCKET BLADES FOR MODEL B26-20 (926) CAT LOADER
40 END BIT
41 BOLT
42 NUT
 DRESSER LOADER MODEL 525

43 BLADE
44 CENTER BLADE
45 END BITS
46 BOLT
47 NUT
48 WASHER

CASE LOADER MODEL 921 BLADES AND BOLTS



Letting No. 35-09.9.10
SNOW PLOW AND SPREADER PARTS

ITEM NO. ITEM DESCRIPTION

49 BOLT
AEROQUIP HYDRAULIC COUPLINGS

50 COUPLING 5601-8-10S
 AEROQUIP CAPS AND PLUGS

51 CAPS AND PLUGS 5657-4
52 CAPS AND PLUGS 5657-6
53 CAPS AND PLUGS 5657-10
54 CAPS AND PLUGS 5657-16
55 CAPS AND PLUGS 5659-4
56 CAPS AND PLUGS 5659-6
57 CAPS AND PLUGS 5659-10

SNO-KING
58  1/2" THICK 6" HIGH 10' LENGTH NON REVERSIBLE

FLO-N-DUMP
59 10' CHAIN
60 14' CHAIN

KOMATSU JRB BACKHOE BLADE GENERAL PURPOSE BUCKET BLADE
61 2 EDGE PIECE 1-1/4" BOLTS
62 1-MAIN 1-1/4" X 13" X 61" 4 BOLT HOLES
63 BACK BLADE 2-EDGE PIECES 3/4" X 13" 12-3/4"
64 1-MAIN 3/4" X 6" X 82-3/4"

TORO MD PLOW BLADES
65 3/8" X 4" X 60"
66 MONROE SPREADERS

PUBLIC DISCLOSURE
LOCAL
LIVING WAGE
UNION
LAWFUL HIRING



Letting No. 35-09.9.10
SNOW PLOW AND SPREADER PARTS

ITEM NO. ITEM DESCRIPTION

LESS %


